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Table S2. Indirect cost outcomes from the Work Productivity and Activity Impairment 

survey12   

Variables  Type  
Survey question 
source*  Calculated as…  

Absenteeism 

Percent work time missed 
due to problem, %  

Continuous  E2, E4  E2/(E2+E4)  

Average annual cost of 
missed work time, $/year 
(SD)  

Continuous  E2, E4, Statistics 
Canada13   

Variable 1 multiplied by 
the patient's annual 
salary, inferred from 
education level, age, 
and sex13  

Presenteeism 

Percent impairment while 
working due to problem  

Continuous  E5  E5/10  

Average annual cost due to 
decrease in work 
productivity ($/year, SD)  

Continuous  E5, Statistics Canada13  Variable #3 multiplied by 
the patient's annual 
salary, inferred from 
education level, age, 
and sex13  

Percent activity impairment 
due to problem  

Continuous  E6  E6/10  

Percent overall work 
impairment due to problem  

Continuous  E2, E4, E5  E2/(E2+E4)+ [(1-
(E2/(E2+E4)))x(E5/10)]  

 

SD, standard deviation  
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